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1. qAHTH OMR 397 USF Uv ogar |- Candidates must enter his /
her Quesﬁon Booklet Serial

WY gieT#T FHiF (10 5% F)  no. (10 Digits) in the OMR

v frd Answer Sheet.

2. RIGTET TGy 3797 wai’ T & 2. Candidates are required to give
. ) their answers in their own words

I 7 as far as plracticabfe.
.‘3‘ ﬁ'ﬁﬁ ik g w R’ g7 3f% 3. Figures in the right hand margin

_ _ indicate full marks.
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q. H;V:# Eﬁ? F2) 00 lza‘q,- 'T('J# 5},- ,%m; 4. 15 minutes of extra lime have

been allotted for the candidates to

rshﬁwwad“ﬁﬁﬁvwﬁww

& ' read the questions carefully.

5. J¢ W¥9F 1 @vel ¢ — mvg-or S This question booklet is divided

09 WUZ-§/ into two sections — Section-A

and Section-B.

Section-A, there are

6. WUF-F ¥ 80 afre wyw &1 6 In

. . : o 80 objective type questions; out
74 ® fF=Y 4o 5v &1 I ,

of which any 40 questions are

&1 0% & fw 1 sw FEifa &1

to be answered. Each guestion

mark. If a

Ty FIF wiemEl 407 AE ToT

carries 1

candidate answers more than

HT JR T & &l FUH 40 F¥ & .

40 questions, then answers of

syEel T T OMR FT-UFF F

g mo @@t fweT ® Ae/F

g 97 @ w1 et it new F

" first 40 questions will be

evaluated only. For answering
these darken the circle with blue /
black ball pen against the

correct option on OMR Answer
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‘Page 2 of 44

https://www.bihartopper.com



&ngeay / ﬂ?‘ﬁ'mlf / &g/ Sheet provided to you. Do not

) use whitener / liquid / blade /
YT AT T OMR IR-3%F H / Hauid /

nail etc. on OMR Answer Sheet;

' otherwise the result will be

qRomy smr=g gl treated invalid.

7. @ue-T % 24 @g IA0T yyT § 7 In Section’B,  there  are

. 24 short answer  type
79 8 Wy Wifdw I &, 8W¥A
| questions. Out of these, eight
AT W 3 U9 8 WYT . . R
: . o ~ questions are from Physics, eight
fmm & & g fug (wifas '

questions -are from Chemistry

T, Y9lET WA U4 Gﬂa " and "gight questions are from

fora) @ WR-9W yeAl & IW Biology. Four questions are to be

1 &) e & fow 29% Prffg - answered from edch subject

. o ~ (Physics, Chemistry and
¥ g7 HfRs 0 WIS H 6 ] | _

| o 'Biology). Each question carries
st gv7 R o € fFE @ -

2 marks. Apart from these, there

2 gy sifeE e &, 2 W |
, are 6 Long Answer I(ype
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questions in which tWo question

I wrew & o9 2 wvw e
cach from Physics, Chemistry

T & &1 e v & 9w
| and Blology are there. Long
I Iwl T v 6 o,

Answer lype questions from

YHIGT WIrew vF g R & fore

Physics carries 6 marks eqch

s o% friife &1 gw fv

and from Chemistry and Bio logy
(it T, ?ilm!? VIR UF carries § marks each. Answey of
T ) @ (’H:T-I;JBT Jrecae one question each from Physics,
Iov 3o -377%{57# 'y _ Cﬁemistry and - Biology s

| | ca_mpulsor.'y.
8. &gt J;ra-,";;r & T 3ywvor ;7 8. Use of any electronic applic;nces is

strictly prohibited.
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WUT - ¥ / SECTION - A

Tefrs v Objective Type Questions

7T ¥ 1% 807w awgfre wrw &1 g @ A a0 At w1 3w A A
wF v¥T & arw arw fwe fv o § Rt @ o w1 e g
T ®R1 fwew & oMr ¥z wv Rl &¥) 40 x 1 =40

Question Nos. 1 to 80 are of objective lype. Answer any 40 questions. Each
question has four options out of which only one is correct. You have to mark

your selected option on the OMR sheet. 40 x 1 = 40
e

_/1/ a1 e et i Freifed § @R E 2
(A) T | | M CEsd
(€ HA=\RE | (D) wWIM
Which of the following is the major excretory organ of human ?
(A) Blood , (B) Kidncy .

(C) " Pancreas (D)  Sweat gland

frer f & T foegedt 1 @ T € e S ¥ 2

(A) 1 B) U
gfe g o) gem
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Which of the following is a hormone secreted by piluila.ry gland 7
iA) Th_\mxi‘nc (B) Androgen
(€} Growth hormone (D}  Insulin
b [ R T p—— 4
A W‘f | B) Bt
€ ugg D) T A HE

Male reproductive organ of a flower is called

(A)  Stamen (B)  Pistil
(€) Pe.ta_l | (D)  None of these
4. TBEsieme
_4,?4 ol B) RIS &
(C) ey & oy ety

Binary fission occurs in

(A) Amoeba (B)  Paramecium
(C) Leishmania (D) All of these
(L/1)112 A XSP-5512 Page 6 of 44
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S. Wﬁﬁ%

(A) TR 3o B) mﬁ’lﬁ“ﬂ

©  wm frgfor R

(A)  always haploid (B)  always diploid
(C)  always triploid {t)} any of ﬂ1e§e
6. wARfAE
(A) Wﬂ?ﬁq i By qﬁ: e ‘s’!ﬂh
© ?sﬁ: doin h D) WRERRE
Somatostatin is
(A) emergency hormone (B) | growth inhibitor hormone
(C grt:@th hm_‘_monc (D) cytokinin

7./ IFF F WETE U6 BT TS W wed &

(A) WA (B)
© TEmee™ (D)  TEaEAt
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The structural and functional unit of kidney is called
(A)  Bowman's capsule "(B) Nephron

(C)  Glomerulus .~ (D}  Ureter

8. WY Hitass = waitue fawiad qor

(A)  Agen | dEew
(C) Hm (D) Ui

The most highly developed part of human brain is

(A) Medulla (B) Cerebellum _ .

() Qerebru_lm (D) Pons
o TR uEN TRk ey o
(A) AR (B) ADH
(C) g . (D) S|
Clor'lcentraﬁnn of urine depends upon

(A) Melatonin

(B) ADH
) Thyroxine (D)  Vasopressin
W F T 14 ¢
(a) o | B) UREET
SRR o el
(L/1)112 A : xsé-ss 12]: Page 8 of 44

https://www.bihartopper.com



The main function of stomata is

(A} Nutrition (B)  Transportation

€ Photosynthesis (D)  Gaseous exchange
11,  O&f qm amm Fo@E
- 37wt 3T (B) W‘d 3
o T e D) TR W :
Wings of birds ancl.hats arc
(A) Vestigial organ (B) Homologous organ

(C) Analogous organ (D)  none of these

/wwmmﬁmmnammﬁwma ?

(A) oA \_’{B}/E‘Iﬂf‘_ﬂﬁq
) o (D) RIS

Which one of the following proteins is responsible for the red colour

of blood ?
(A}  Heparin (B) Haemoglobin
(C) Thrombin (D)  Fibrinogen
(L/1)112 A XSP-5512 Page 9 of 44
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3w s #) sifgd A den A E
(AY (B) 22
€ 23 (D) 24
The number of pairs of autosomes in human is
(A) 11 (B) 22
(C) 23 (D) 24

- M%Wﬂﬂﬁﬁ@aﬁ%méwﬁﬁﬁaﬁaﬁmmﬁ%
() TR @  fw

Th it i
¢ exit of water in the form of vapour from the aerial parts of th
€
Plant is known as
(A) Diffusion (B) Os 1
: mosis
(C) Transpiration (D) Excreti
. b 10N

15. mﬁ?ﬁmﬁmﬁﬁﬁwﬁmwﬁﬁm%

A e
Al Ak B &

C)  dien
() D)

(L/1)112 A [XsP-5513] ' J
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When iodj ST
Ine solution is mixed with starch, its colour becomes

(A)  blue B) green

C)  yellow D)  red
lj'—/ff At wifeet & Tor @t @ 9 e &

(A) T B) g

() 3w ‘ @/f«{w

The space in between two nerve cells is called

() Axon (B) Dendrite
(C) . Impulse (D) Synapse
\7& TS & o
qk)_/@? Lricig | (B) UH W@t

(©) T T o ¥
Mushroom is .
(A) ~ a parasite (B) an autotroph
(C)  asaprophyte (D) analgae

18, afae W ¥ |
u;] st | (B) Y FH
€ g (D)  STSRE H
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Style is a part of

A} Gynoecium (B)  Stamen

(C)  FRilament (D):  Ovary
19 =W # Fakem wm &
A) (B) ST
© I O) A
The hardest part of the tooth is
() Pulp cavity (B) Dentine
(€)  Canine (D)  Enamel
20- U W s o, ga ot w9 gt 9 e d
@) R B s
© e o e

In a fo i i ‘
od chain, who ig always at the second trophic leve] ?

(A) Herbivores (B) Autotroph
' rophs

(C) Camivores _ (D)

21. nﬁaﬁmmﬁ%mmwmmw%ﬁmﬁq%

Thd ?
(A) art fom -
e ( AT et fog
© THE |
| D)  FmR R
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On which day we caqnot use solar hcat;r to get hot water ?

(A)  Sunnyday | (B) Cloudy da3:f

(C)  Hotday " (D) Windy day

[ -

) T B R
_@/ﬁqﬁu "m—vﬁ ‘ (D) WITeN

| Wh;ch of the following is not an example of biomass energy source ?

(A) Wood ' | (B) Gobar gas

(C)  Atomic energy (D) Coal

o A

Page 13 of 44
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Which are cxamples of homologous organs ?
(A) Forclimb of human and dog

(B) Teeth of human and elephant

(C) Runner of potato and grass

©)  'rwm (DY wET
Which of the following are present-in the anther ?
(A)  Pistl - |

Pistil (B) Ovules

) Sepal | '
pals _ (D) Pollen grains

2 TR R STer sen v o o §
R S qBI/Hmram'-‘rﬁarmqa

(A) Grass, wh
Wheat and mangg (B) Grass goat
» 894t and human

.
I: ;l Gﬂat, < d EIE .ha_'llt {D] Grass f' h |
C COoOw an p » 115 a.l]d g‘(}at

LA R
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26.  Philosophic Zoologique % J&d foad grT forat T8 & 2
(A) = R @) e Em
(©) SR EERl - - (D) e EN

Who wrote the book Philosophic Zoclogique ?

(A) Darwin | ' (B)  Miller
(C) Weismann . (D) Lamarck
o7. Y ud g et Wik @ E 2
n wed @ ewd
o wwmd . @O TR d

Where are resins and gum stored in ?
{A) Phloem (B) Bark

Cortex Old xylem '

/ﬂ/ﬁ{ﬁrﬁ#ﬁmwﬁmﬁmaﬁqﬁqﬁﬁ% ?

@& \..(B?/W
c ¥ - D) &N

In which of the following mediums is the speed of light maximum ? -

(A)  Water © (B) Air
(C) Glass (D) Diamond
(L/1)112 A _ XSP-5512 Page 15 of 44
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s

fyl e amdwr o op e &
(A) S (B) I

€ g ?T’ﬁq

S. L. unit of electric charge is

@) voit - [Bj ~ ohm

.' © dmpere | (D)  coulomb
#\ i TR % e gt witwr 3 foe wRT =57 77 @k &

o SR D) 9 ¥ F 7

The value of the current

in the electric cireu: .
. cuit .
overloading is - at the time ,

(A] very lgw (B]
' Very high

| ] unchan d -
/“E ange D) none of these
1 T o av fy o

L/1)112 A \
o
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In which instrument is split ring used ?

(A) Electric motor (B)  Elcctric gencrator
(C) Ammeter (D)  Galvanomcter
st e o e o i S A
A s By s i
()  EHGer AU | (o) FHAW

Wh.lch mirror is best suited for a solar cooker ?

(A) Convex mirror (B) Concave Mmirror

(C) Plane mirror (D) Al of these

33, Taga faveiad T S1 &

Mﬁ @ de dd g
TR o)

The SI unit, of electric potential difference is

(A) volt B) volt/ coulomb

(D) ohm

(C) ampere
Page 17 of 44
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™ O e oftry A gl AR 01 A E
A e <
© & | (o)
The colour of neutral wire in a domestic electrical circuit ig

(A) Yellow (B) Black

| €)' Green | (D)  Red
35+
\/S/fézﬁ@ﬁ?qwﬁammﬁ?ﬁ%?
Q) vt ey o \@/F?{Q*?RT'

O) =X FH T

What ty; |
at-type of current 18 received from the battery ?

(A) Altcmaﬂng current

(B)  Direct current
}/[C] Both (A) ang (B) (D) NOI;I f th
_ €0 cse
- VET Ty ]
: 5 H et o q Wy w W 3Nygy Yy
T HAY wear 5 e N

(L/1)112 A |
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What is the relationship between the angle of incidence and the angle

of refraction on entering from a denser medium into a

medium ?
(A) The angle of incidence is greater
(B) The angle of refraction is greater
(C) Both angles are equal
(D) Noﬁc of these
37. WEI A 3 TRl TR A §
wﬁm i {Bi = TEr o
- (© aﬁﬁﬂ'ﬂﬂﬂ%ﬁ - iD}l qﬂﬁ '

In a homogeneous medium light travels in

(A)  straight line (B) curved line

. (D) in circle

{Ci - indefinite ways

rarcr

dEE T
| 1
@ FuT _
o Lel-2 D) T E
(L/1)112 A [Xsp-5512] Page 19 of 44
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] } 1 - P | ____i_
Y - = {F3) " " “(

[y I S | (M none of these
H 14 F -

W EET I Ty avd g adndud afiwman g7 8 2

(Al g B) e

Wi S e ]/
N> LY

1'-"h‘.hl'l.'“l"] C
olour hag maximum wavelength in visible light ?

(A) Yellow

(B) Blue
(€) Violet D) .
ed
0. fowd sy u :
A s B) 0 :
S S

(C) I dioptre

(L/1)112 A
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N~

42,

e

-

% A - frge ooy F P wfe @ Frefa @

L

FAE ?

@ VI D) V%R

Which of the following terms does not represent electrical power inan

electric circuit ? -
a) IR : B) IR?
© vi D) V?/R

St g & e s 2 v A e

J/WW'E[ @ W

o wik@d O T ¥ F

To increase the value of resistance, resistors should be connected in
(A)  parallel | .I (B)  series

(C)~~ .both (A) and (B) D) nT:me of these

31 & e fip Ul % IO B t?

(a) deEE . \,@l/‘@*:'”

() FARRRA - (D) e

) Page 21 of 44
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e

Which pigment makes the colour

me
(A} Haemoglobin ()  Urochro

(C)  Chiorophyll ()  Carotenc
ﬁw%ﬁ@a 3 2w el o 0 0 8 2
4)  uaq | | (B) W" |
Q) W - o \_@]/ ﬁ@f"f

ich of the following is not a renewable source of energy ?

(A)  Wind (B) Water
(D}  Petrol
B) g%
(C ' :
A )

Sexually transmitted disease is

(A) Jaundice |
(B) Sma]lpox

C AID

© S | (D) Plagye

(L/1)112 A - [xspP-s513] "
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%\ﬁmﬁ@ﬂﬂaﬂﬂﬂm%?

A) W B e
© IR \u;»/ﬁcmz
Which one of the [pﬁcuﬁng is conductor of electricity ?
(&)  Sulphur (B)  Plastic
{C} Iodine (D) Graphite
47. ﬁmﬁf@ﬁﬁﬂaﬁﬁqﬁﬁuﬁﬁmwméﬁ@ﬁmﬁ ?
(A) = : . (B) HER
© 9 . D) .' A

Whith among the following rﬁéy be biotic component of an

ecosystem ?
() Soil e ‘Pungi
(C) Air . (D) Temperature
as. ﬁqﬁ@wwq@ Wa}g{m%
(a) foermE AR T
B) AR (earth wire) q
(€ TN AR (neutral wi'r_e] £
o AT
(L/1)112 A - | XSP-5512] Page 23 of 44
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The metal cover of the clectrical appliance 18 connecte Wi

%
(A)  Live wire (B) Berth wir
©  Neutral wire (D) none of thege
a9, Fretfeifiae o @ R forgge et 1 39T #IAT € 2
(A fre e ,;:' . (B <Oi@Ekd
© wwmEd o) FEdwh
In which of the following is electric motor used ?
(A)  Electric fan - - (B) . Tape recorder
| (©)  Lathe machine (D)  All of these
5 :
ﬁﬁqﬁﬁ*wwmmaﬁaﬁﬁmﬁmg
B Tt o B) Ty R
€ @K a3k (B) 3 D) 3?'5{# 3

The process of Combining 1tw0 i

HUCIEHS is caHEd

(A} nuclear fusion (B) _
. Nuclear fission
€ b | .

oth (A) anqg (B) o) |
fione of these

L2 e

https://www.bihartopper.com
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1. wER FE 3Ed WR & fg  w e §
@ = @ =13
€ =14 o) a2
Carbon is a member of which group of modern Periodic Table ?
(A} Group 12 (B) Group 13
(C) ‘_;Group 14 : (D) Group 2
}A@Wﬂ@mmmm% >

\/W/Al - (B) - Heg

(C) Fe | . D Cu

Bauxite is an ore of which of the following metals ?

Ay Al (B) Hg
(C) Fe (D) Cu
53~ %A % A9 W 5 e Ted e g E
@) s L@ T

@,4 | D)
(L/1)112 A ~ [XSP-5512)
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uid state at room temp,,

The metal which remains in lig ratur&
_ : er
(A)  Bromine @ copp
© Mercury (D) Nitrogen
S5 wiisam S wiatorar @ ¥ 2
\&/ B) 2
© 3 | - D) 4
What is the valency of sodium ?
CVRE | (B) 2
€ -3 (D)
4
S5 o i e @e
A} cuso,.s H,0 (B) |
- FesO, . 71,0
+© caso,. 14 /
D
( CasSQ, . 2 H,O
The chemica] formuig of £YpPsum
18
(A) Cuso, .5y 0
(B
) Feso 47 HyO
(C) caso
asSQ, . %Hzo D
) Cas |
(L/1)112 A
| Page 26 of #
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6. s wgai & s 9 §
N wm ——
@ v o et
Oxides of most.of the metals are
(A) basic | (B)  acidic
(C) neutral | D noﬁe of these
57, Hﬁgﬂmﬂ?mﬁﬂmﬁiaﬁﬂaw m% ?
| A) | 1 B) 4

ﬂl c a. -
0

nitrogen ?

Page 27 of 44
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hell of sodiyy, -
How many electrons are there in the outermost 8 mo

A) 4 fEi 3
C 2 o) 1 |
59, Prifem o @ wa-ah g sw et ceitgS T AT S HT g
T T & 2
(A) Mg (B) Cu
(C) 2n (D) Fe

Which of the following metals is obtained by the electrolysis of

molten metal chloride ?
A .Mg - (B) Cu

j  Zn - (D) Fe |
%%mﬁﬁﬁu%rwaﬁﬁmﬁrﬁaﬁﬁﬁﬁaﬁ?ﬁm%
4  wEE B) fefemm

(©) ﬂ‘l%'r @/éﬁm

following elements can it be ?

(A) . Carbon (B}  Silicon
(©)  Iron | (D)  Calcium
(L/1)112 A [XSP-5512 Page 28 of
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o1 WITREN o w1 i mom o A i s @

o B) e

€} e o e

What is the colour of phenolphthalein indicator in alkaline medium ?
(A} Green (B) Pink
(C) Yellow (D) Blue
62. UEICSH 3 H [UPAC TM &
(A) AR I @) T o
(C) TERRF A o) TRRE A

. The IUPAC name of acetic acid is

(A) Propanoic acid (B) Ethanoic acid

. » .d
(C) Methanoic acid (D) Tartanc ac1'

oo G B @ e g o S0, ¥ e T wT E 2

(A) Mg (B} Zn
() Cu (D) Al .
Which of the following metals does not react with dilute H;SO4 ?
(A) Mg (B) 2n
© Cu (D) Al |
XSP-5512 Pagc 2‘:-1 of 44
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'/_.

j%ﬁu@aﬂﬁ?{maﬁq% ?

o i e B T
@ (D)  WAT-HIERRE

Which of the following is a pair of metals ?

(A)  Sodium-calcium "~ (B) _Carbon-sulphur

(C)  Copper-sulphur (p} - Gold-pho's;;ho-rus
65. BRI HREY 3 | |

(A) THE T - | (B)” FI& .

(C)  HERREY o) fafes= =

Diamond is an allotrope of

(A)  Sulphur (B) | Carbon

(C) Phoéphorus | (D) Silicon

(Cu) F R e Bt &

| @ 17 (B) 19
“S(C) 2
€26 oy 2
(L/1)112 A — J
[XsSP-5512 - Page 300
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The atomic number of Eopper (Cu)is

° i (B) 19
(Cy 26 : o 29
o H @) SO H
! a3 |
(9 ga | | D)
Oxalic acid is found in
(B) Tamarind
(A) Vinegar
| () Orange (D) Tomato
- FA & ?
' ' i e |/ arfufeman
J - urg 38 i
68. et ‘_
M (B) Na
(A) g
| (D) Fe
i )} | d hot
following metals does not react with cold an
Which of the follo
water ? |
(B) Na
A) M8
(D) Fe
. Page 31 of 44
2 A .
(L/1nl 1
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9. Frstife o @ e smer™ € 7

- Cu - Sn
(A)\  Cu-2zn. (B)

(C)  Na-Hg (D) Pb- Sn
Which of the following is an amalgam ?
(A} Cu-2n - (B Cu-Sn
(C)  Na-Hg (D) Pb-Sn
- FifeT % } 9 uig R w1 99 ST JE@E © 2
(A) Cu (B | Al
Jﬁ’/ Ag ©) Fb
Which of the following metals is the best conductor of electricity 7

A Cu

(B) Al
€ ~Ae rﬁl Pb
Frife & & wr-ah ‘"?1: SED w&;«: Srar
_{/A/ Me | B Au
(C) Sn D o |
u

(L/1)112 A - | -
: | ) : Page 32 of*
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L3 [ Ll
Wwhich of the following metals can displace zinc from zinc sulphalt

solution ?
(A} Mg (B) Au

© Sh D) Cu
% T Sl < e ks e 1 76 AR TS

| - By uad
B ST 'H

This reaction 15

(B) | Reduction

(D) Decomposition -

https://www.bihartopper.com



. ; alled
The feactions thgt take place by absorption of sunlight &r¢ ©

(A) Combination reaction B) PhotD‘Chemica-l reaction

() Precipitation reaction []j] Displacement reaction
74 Pb{OH)NO, fre et sy o d 2

A el e (B) W 00

SR wro ) Tafee @@

Pb(OH)NO, is which type of salt ?
(A)  Acidic salt (B}  Normal salt
) Basic salt (D)  Mixed salt
%€ S H pH W fre dr & o
@ 3 - ( 7
© 10 D) 4
- What is the PH value of Pure water ?

A _
W 3 ' B 7

10 ‘
D) 4

aqﬁmuﬁmaaaéww%?
(a) it {ﬁ} S *
© TR fs?ﬁ#
(L/1)112 A o
i Page 34 of 44
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What is the new concept of waste management ?

@ tow (B) Restructuring
(€) Reuse (D)  All of these
77. Wﬁ*ﬁmmﬂ?ﬁﬁmﬁﬁmﬁm_mm ?
| (A) o @) oS A
(c;,] | s 1 e o) FHawd
Which type of bag should be used instead of polyt%lcnc-_ bags ?
(A)  Jute bag (B) Cloth bag
(C) Paperbag (D)  Allof these
8. m@a@mﬁﬁ#—ﬁaﬁawaﬁﬁ ?
@) TR - ® m@sﬁ
€ T o FAI
Which elements are found in coal and petr_fﬂeum ?
@) Hydrogen
(A) Nitrogen
(D) Al of these |
@ s page 35 of 44
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mﬂ&;wﬁﬁhﬁﬁﬁfmﬁrwn

FALY] .
T e A iy e v aw

(A) n a5 (B) Ul g

© w3l ) 2 D)z

level ?
(A)  Bore well (B) Dug well

Both (A) and (B (D) Tubewell

W?ﬁwﬁ%ﬁﬁﬁaﬁmmwmﬁw 19 3R 22 F Ty
e & 7

Whr " . i
ich of the following pairs of elements is located between atomic

numbers 19 and 22 ?
(A)  Na, Mg B}  Ca sc

C Cu,
© 2n D) Ag, Au

(L/1)112 A TN
-0
u Page 36 of 44
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¥ -9 [ SECTION - B
et W / Physies

jﬂg I WF / Short Answer Type Questions
7T wear 1/ saa?agaaﬁwi;gqﬁ#m?4maﬁ;sﬁr%: qaE
s & fory 2.9 FraiReT 1 4x2=8

o 8 are Short Answer Type. Answer any 4 .questions. Each

Question Nos. 1t
question carries 2 marks. 4x2=8
/ e o Ry St S T e I 2 2
Why is a convex lens called a converging lens ?
2

Explain scattering of light.

/ﬁqaq:aaﬂﬂwli A W E 2

tand by elcctrnmagnetic induction ?

https://www.bihartopper.com
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R B a1 4 qrard 7
How wj -
will you recognise the nature of a spherical mirror ?
5, '
qaq@mimm%am.wma‘%? 2
What |
are the benefits of getting energy from wind ?
6. . | ' |
Sitemes Sy ot SR T ) : :
Wh i '
at are the disadvantages of fossil fuels ?
7. '
R S 2 reeemait o |
| 2

Wri isti '
te the charactensncs of solar energy

8. ‘
Hiq?ﬁma%%rqsﬁﬁmaﬁwzzov 6ow%f@1% al ey he
F 3¢ Ty -

220V, Gﬁ watt is wry 0
written on an electric bulb of domestjc W d
’ estlg use, What

(L/1)112 A

Page 38 of 44

https://www.bihartopper.com



&
Wﬂ'ﬂ‘m | Long Answer Type Questions
_ 93??10a?a‘mhm#:ﬁﬁ#ﬂrﬂ?wwﬁ?$’m
w¥T & 1T 6 3w Fratfi #) : - 1x6=6

Question Nos. 9 .
n Nos. 9 and 10 are Long Answer Type. Answer any one of them.

Each question carries 6 marks. 1x6=6

o, N E N A ettt e g Mm@ A€ 2 6

even colours ?

How will ydu show by experimcnt-that sunlight has s

¥
o

tial difference across the ends of a resistor of 4 ohnt if

Find the poten

100 joules of heat is _prncluced per second.

. Page 39 of 44
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TH™T WA / Chemistry

tions

. Iy " Short Answer Type Ques

W W Ilﬁlsmwmﬁlﬁﬁ#ﬁ4gﬁﬁm%lm
%Faqgmﬁuﬁah 4x2=8

Question Nos. 11 to 18 dre Short Answer Type. Answer any 4 questions. Each

question carrieg 2 mark#. Ix2s8

_11., B‘qﬁawmmmm%@mm%? -' 3 2
How can we conserve the water resources ?

12, | ﬂh%ﬂvm%m?ﬁuﬂmﬁiwﬁ?@l 2

Write the structural formulae and names of the isomers of pentam::.
ﬁ#ﬁﬂﬂﬁmﬁﬁ#ﬂ%ﬂmaﬁm%ﬁ: 2
i = (s) + THIRS ara (ag) » o gz (ag)

+ BIZGNT (g)
(ii) ﬁﬁ'ﬂqm@(aqﬁﬂﬁﬁlﬁmm(aq}ﬁ

{S] +€E@3‘Fﬁﬁ$ I+ (aqg)
(L/1)112 A [XSP-ss12]
_ Page 40 of 44
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Write the balanced chemical equ&;tions for tilc following reactions :
(i) Zing (s) + Sulphuric acid (ag) - Zinc 'sulphate {ag)
+ Hydrogen (g)
(iiy ~ Barium chloride (ag) + Sulphuric acid {ag) =
Barium SUiph?‘tc (s) + Hydrochloric acid .(aq}

\M/F@Eﬁqam? )i TER FeRE 2 - - 2

r

What are hydrocarbons ? What are its types ?

15. ﬁa&\ﬁﬁmﬂtwwmm%? ' 2
What are the effects of dljinlci:ng alcohol on the body ?
16, WA FE ? 2
l“‘fl'lat 1S sbap ';
17. quﬁ%ﬁmﬁgﬁwﬁmaﬁ%? | l2
Why is sodium metal kept immerseé in kcro§ene ?
15, b el A E 2 )
What are minerals ?
XSP-5512 | Page 41 of 44
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gestions

qt It yy Long Answer Type @
mmwﬁzmwmhyﬁﬁwwwm#’mm
*ﬁvsﬁwﬁuﬁ?g, fro=s

EuGShon Nos. 19 and 20 are Long Answer Type: Anste
2ach question carres S marks.

Ix5=35

19. W%H@mwmmlwﬁwéﬁwﬁmﬂm
ford : S

Name thé main 6re of m:.:rcury, Write the principle of extraction of
mercury from it, '

20, TOH-ERET T Tor- e 3 R e AT TRE 7 °

What should be done for -water cohservation and water
management ? https://www.bihartopper.com

- T faa / Biology
o ﬁﬁqm / Short Answer Type Questions

mmzi#zsﬁa‘agﬁﬁva’r.ﬁﬁ#%??4m#%mﬁm

¥ & oy 2 o freffa #1 | dx2-8
Qu_estfon Nos. 21 to 28 are Short Answer Type. Answer any 4 questions, Each
question carries 2 marks. : - 4 xD=8
. " ° x -
21, GgEROTwTE ? | | 9

What is environment ? - ' N

A . ) I .
[L/ 1)112 XSP-5512 Page 42 of 44
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mmﬁﬂﬁlw%) | ,

)

What is the taste bud ?

3. DNA JTERTHAT 7 3R & 3 7 2
DNA is the basis of heredity. How ?

24. mﬁaﬂﬁ'ﬁmwﬁa 2

What is glycolysis ?

05,  IqHIEH (Y FEAE ? _ ' 2

Who are known as consumers ?

*

ne, ool o e 4 B o W E 2 2
How can the environment be protected ?
27, it & Rl o ot i @ o ¥ 2 2

Why do you sweat a lot during summer days ?

(L/1)112 A XSP-5512 Page 43 of 44
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28. “‘*ﬁgihﬁﬁﬁmzﬁt&.ﬁmquww?-

:oh i in injections ?
Why are some diabetic patients treated with insulin mj

A IWAT WFT / Long Answer Type Questions
¥ T WEAT 29 0F 30 55 FadT &1 39 @ fFET vF BT I T VAE IN
& frg 5 3% FraiRa &1 Ix5=5§
Question Nos. 29 and 30 are Long Answer Tupe. Answer any one of them

Each question carries 5 marks. ix3=23

th

29. HH 9F T & ? 9 w9 TR T T 6 7
What is artificial kidney ? How does. it work ?
30. TN GRass & T S1E H1 300 He -5
Mention the main functions of human brain.
https://www.bihartopper.com
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